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QUESTION NO. 1
Explain the Law of Diminishing Marginal Utility with

the help of a schedule and diagram.
Answer:

Law of diminishing marginal Utility:

Law of Diminishing Marginal utility states “All other things being equal, the
additional satisfaction derived from consuming additional units of a commodity
tends to decrease with each successive unit consumed. Total Satisfaction
continues to increase but at a decreasing pace.”

For Example If a person feels thirsty and stats drinking glass of water, one after
the other, The first glass of water gives him more satisfaction than the second and
so on. This basic tendency in human behavior is called the law of diminishing
marginal utility.

Units of Apple Total Utility Marginal Utility
1 10 10
2 18 8
3 24 6
4 28 4
5 30 2
6 30 0
7 28 -2




(Diagram)
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In the above table the first column indicates the units of apple, the second column
shows the total utility and third shows marginal utility of units of apples. When the
consumer uses units of apples one after the other, the utility goes on increasing

upto 5™ unit and stops increasing with 6™ unit. So consumer does not get any
satisfaction from the 6™ unit. After the 6™ unit total utility starts to fall.

The first unit of apple gives the consumer utility equal to 10 and second unit’s
utility is equal to 8 and so on. The marginal utility goes on decreasing, so the
utility of 6™ unit becomes equal to zero and the 7% unit’s utility is negative. This
tendency shows the law of diminishing marginal utility and proves that every
increase of a thing gives less satisfaction.

Assumptions
The Law of Diminishing Marginal Utility Holds Good under Certain Circumstances

e Reasonable Time:
Commodity should be used at a stretch to prove the validity of the law.

e Reasonable Unit:
Size of Commodity Consumed should be reasonable; For Example
Reasonable Unit for Milk is a Cup of Milk instead of A Spoon of Milk.

e Taste / Fashion:
Taste or Fashion should not change over the period of consumption of

commodity.

e Consumer’s Income:
Income of the consumer should remain constant over the period .




Exceptions:

e Money, Monetary Assets

e Hobbies and Rare and Antique Things
e Liquor and Music

e Things of Display

Importance:

e Basis of Law of Demand
e Basis of Consumption Expenditure
e The basis of Progressive Taxation

Question No.2
State and Explain the Law of Equi-marginal Utility with

the help of a schedule and diagram.

Law of Equi-marginal Utility
“The tendency on the part of a consumer to equate the utility from all marginal
uses.”

Explanation:

When the utility from all marginal uses is same the consumer will get the
maximum satisfaction.

A prudent Consumer in order to get maximum satisfaction from his limited income
compares not only the utility of a particular commodity and price but also the
utility of other commodities.

If he finds that the particular expenditure on one use is yielding less utility than
that of other, He will try to transfer a unit of expenditure from a commodity
yielding less expenditure to a commodity yielding high marginal utility.

The consumer will reach his equilibrium when it is not possible to increase utility
by transferring from less advantageous use to more advantageous use, This
position of equilibrium is reached when the utility from all marginal uses is same.

Formula For Law of Equi-marginal Utility:
MUA/ PA= MUB/ PB= MUc/ Pc --------- MUz/ Pz

Schedule:
A consumer has Rs.5, He Want to spend this money on two commodities. The MU




on both commodities are as under.

Units MU ( Tea) MU
(Cigarettes)
1 10 12
2 8 10
3 5 8
4 4 6
5 2 3
Total Utility 30 39

A consumer can spend money in three ways:

1. Rs.5 on Tea
2. Rs.5 on Cigarettes
3. Some on Tea and some on Cigarettes

Total Utility:

1. When a consumer spends Rs.5 on Tea, He gets a total utility of
30(10+8+5+4+2)

2. 1.When a consumer spends Rs.5 on Cigarettes, He gets a total utility
of 39 (10+8+5+4+2)

3. When a consumer tries different combination
4T 1C= 10+8+6+4+2 =40

3T 2C= 10+8+46+12+10=46

2T 3C= 10+8+12+10+8 =48

1T 4C= 10+12+10+8+6 =46
(T=Tea, C=Cigarettes)

Hence the Total utility in maximum at a point when consumer spends Rs.2 on T
And Rs .3 on Cigarettes. Mu is also equated on this point , MU =8 ( See in table
above, 2 Units of T And 3 Units of cigarettes)




Diagram:

L
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Limitations:
This law does not hold good in solving practical problems due to following
limitations.

Unrealistic Assumptions:
This law is based on unrealistic assumption of constant utility of many
addition of utilities, which does not conform to the practical world.

Careful Calculation:
It is very difficult to calculate utilities and equate them with the price of the
product. Utility is a purely intangible attribute which is difficult to measure.

Taste or Fashion:
Mostly people make their purchases according to their taste and fashion ,
they do not bother to equalize utility of a good with its price.

Indivisibility:
Most goods are indivisible, So it is not possible to equate utility derived




from such good.

Question No.3

Define an Indifference Curve. State and Prove the
main properties of Indifference curves with the help of
diagrams.

Indifference Curve:

Indifference Theory Considers, What change in consumption of one good is
required to compensate for a change in consumption of a second good, to leave
the total utility unchanged.

Indifference curve shows consumer is indifferent and he gets equal satisfaction
from each combination.

Assumptions:
1) Consumer is rational , so he will try to maximize the satisfaction
2) Consumer has choice of two goods, x and .
3) Diminishing marginal rate of substitution between the goods
4) Goods are transitive, If consumer prefers Good A to Good B, and Good B to
Good C, Then he Should Prefer Good A to Good C.

Schedule:
Combination | Commodity X | Commodity Y MRS Satisfaction
A 1 15 - same
B 2 11 4:1 same
C 3 8 3:1 same
D 4 6 2:1 same
E 5 5 1:1 same

According to the above table when consumer has one unit of “X” commodity
and 15

units of “Y" commodity, he is willing to forgo 4 units of “Y” to get one unit of
MX"

Whereas new combination gives the same level of satisfaction to the
consumer. In the last combination he is willing to forgo only one unit of Y to get
one unit of “X”

Thus the marginal rate of substitution of Y for X goes on Diminishing, So that
consumer indifferent about A to E Combination because the total satisfaction is
the same in these combinations.




Diagram

In the above diagram x commodity X is shown along x-axis and commodity Y
has been measured along y-axis. IC curve has been constructed with the help
of two commodities "X" and "Y".

Consumer purchases one unit of "X" and 15 units of "Y" to get maximum
satisfaction by the intersection of first combination of X and Y commodities, we




get point A. In order to

by the intersection of first combination of X and Y commodities, we get point A.
In order to get one more unit of X, the consumer has to forgo 4 unit of Y and
we get point B. Similarly we get points CDE. By joining these points (ABCDE)
we get a curve, which is called indifference

get points CDE. By joining these points (ABCDE) we get a curve, which is called
indifference curve and each joint on it showing equal satisfaction.

Characteristics/ Properties of Indifference Curves:

A consumer may have a large number of indifference curves representing his
scale of preference but there are some characteristics of indifference curves,
which have been

explained below.

1) Indifference Curves are Negatively Slopped:

IC falls downwards from left to right. That is why they are negatively sloped.
This is because in order to get more of one thing the consumer has to accept
less of the other thing. This property of IC can be proved in following ways:

i) Suppose the IC is parallel to the OX, which means that a consumer could
have more “X” without forgoing any unit of “Y”, which is impossible.




ii) Suppose that the indifference curve is parallel to Oy. IC is parallel to Y
axis is also not possible because, the consumer cannot remain on the
same IC when the consumer is getting more “Y” commodity without
losing “X” commodity.

iii) ~ Suppose IC is positively slopped and it is raising upward from left to right.
It means the consumer is getting more “Y” commodity along with the
increase in “X” Commodity, which is against the basic properties of
indifference curves, Thus it is proved that IC is always negatively
slopped.




iv)
2) IC are convex to the Origin:
The second property of the IC is that it is convex to the origin, because a

consumer goes on substituting one commodity for another and the MRS goes on
diminishing. This property of IC can be Proved in following Ways.

i) Suppose the IC is a straight left to right downward line, which shows
proportionate decrease in commodity “X” with the increase in commodity
“Y” and this would Unlikely to happen.




ii) Suppose the IC is concave to the origin which means that the MRS of “X”
Commodity in the term of “Y” instead of falling is rising. So it is
impossible for a consumer to forgo more and more of “Y” commodity in
order to get additional units of X.

(3) IC never intersects Each other:

The third property of IC is that they never cut across each other.




This situation shows that the consumer is getting equal
satisfaction at point where IC1 intersect IC2 Which is an
unacceptable position. The level of satisfaction on a higher IC
can never be the same as on a lower IC. Thus it proved
indifference curves never intersect each other.

Question No. 4

Briefly Explain the Price Elasticity of Demand,How It is
Measured.

« Price Elasticity of Demand
- The responsiveness of demand
to changes in price
- Where % change in demand
is greater than % change in price - elastic

- Where % change in demand is less than % change in price -
inelastic




DEFINITIONS:

(i? Acc"“ﬁnf to Lipsy: “Elasticity of demand may be defined as thﬂl ratio |
Percentage change in demand to the percentage change in price.”

According to Mrs. Robinson: “The elasticity of demand at any price is th

5?0?"“1‘"131 change of amount purchased in response to a small change in pric¢
Wvided by proportional change in price.” ' ’
MEASUREMENT OF ELASTICITY OF DEMAND

The following three methods may be used for measuring of elasticity of demand:
(1)  Expenditure method

(2) Proportional method
(3) Geographic method

(ii)

Note:

According to Marshall: “The elasticity of demand is measured by unity method.”
In this method elasticity of demand is equal to one or greater than one or less than one.
(1) = Total Expenditure Method: .

(i) If the change in demand is equal to the proportional change in price is called
elasticity of demand equal to one. In this case total expenditure remains
constant, at high and low price.

(Sehedule)
Price Qd Total Expenditure
2 Rs. 4 Units 8 Rs.
4 Rs. 2 Units 8 Rs.

the expenditure remains the same as price rises 50 elasticity of a.

is’ table e
In this above following diagram can explain this.

demand is equal to one. The
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Y .
& _
D .
4 el .
Price )
' 2
D
eep X
1 ]
0 4
















Question No. 5: State and explain the law of variable proportions with the
help of a schedule and Diagram.
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(3) Stage lil:

In the third stage the average product decreases still further. Total output actually falls as more labour
is used, Marginal product is negative and average product continues to decline.

QUESTION NO. 6

Explain the different methods of measurement of National Income. Point,

out the difficulties in its correct measurement. p—
.

 ° ) |
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Measuring national income

To measure how much output, spending and income has been g% W &e national income
accounts. These accounts measure the:

1. Total value of the output of goods and services produced:in th kistan

2. Total amount of expenditure taking place in thseco

3. Total amount of income generated through pr N ds and services

National Income is a term used to measu netary value of the flow of output of goods and
services produced within the econo period of time. Measuring the level and rate of

growth of national income (Y rtant to economists when they are considering:

e The rate of economic gro and where the economy is in the business cycle
e Changestoo ingstandards of the population
e Lookinga tribution of national income (i.e. measuring income and wealth inequalities)

Gross Domestic Product (GDP)

GD ures the value of output produced within the domestic boundaries of the PAKISTAN.
It includes the output of the many foreign owned firms that are located in the PAKISTAN

There are three ways of calculating GDP - all of which should sum to the same amount since by
identity:

National Output = National Expenditure (Aggregate Demand) = National Income



Under the new definitions introduced in 1998, GDP is now known as Gross Valued Added.

i) The Expenditure Method (Aggregate Demand)

This is the sum of the final expenditure on PAKISTAN produced goods and services measured at
current market prices. The full equation for GDP using this approach is

GDP=C+ 1+ G+ (X-M)

C: Household spending (consumption) g
- -
. . | | ) ]
I: Capital Investment spending A WY
G: General Government spending O
X: Exports of Goods and Services V 9K
M: Imports of Goods and Services ,“

i) The Income Method (Sum of Factor Incomes) .

Here GDP is the sum of the final incomes earne N oduction of goods and services.

Main Factor Incomes

Income from employment and self-€

Added to Profits of companie

Added to Rent income
= Gross Domestic factor income)
Only factor in enerated through the production of output are included in the calculation of

GDP by the.in approach. Therefore, we exclude from the accounts the following items:

Tr ayments (e.g. the state pension, income support and the Jobseekers' Allowance)
Private Transfers of money from one individual to another

Income that is not registered with the Inland Revenue (note here the effects of the Black or
shadow economy where goods and services are exchanged but the value of these transactions is

hidden from the authorities and therefore does not show up in the official statistics!)



iii) The Output Method

This measures the value of output produced by each of the productive sectors in the economy
using the concept of value added. Value added is the increase in the value of a product at each
successive stage of the production process. We use this approach to avoid the problems of
double-counting the value of intermediate inputs. The main sectors of the economy are the
service industries, manufacturing and construction, and extractive industries such as mini il
together with agriculture S

V .

| | ) ]
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Difficulties in Measurement of National Income

F 9K S

There are many difficulties in measuring national income of a co g)tely. The difficulties
involved in national income accounting are both concept tical in nature. Some of these
difficulties involved in the measurement of national income discussed below:

Non Monetary Transactions

The first problem in National Income a es to the treatment of non-monetary
transactions such as the services of hous the members of the families. For example, if a man
employees a maid servant for hous , payment to her will appear as a positive item in the
national income. But, if the man we ry to the maid servant, she would performing the same
ents. In this case, the national income will decrease as her
as before.

oods and services depends on the use of those goods and services so there are
possibilities of double counting.



The Underground Economy

The underground economy consists of illegal and uncleared transactions where the goods and
services are themselves illegal such as drugs, gambling, smuggling, and prostitution. Since, these
incomes are not included in the national income, the national income seems to be less than the actual
amount as they are not included in the accounting.

Petty Production

There are large numbers of petty producers and it is difficult to include their production‘in.national

income because they do not maintain any account. (“

A\ W 4
e

Public Services

”~ _
Another problem is whether the public services like general administrati olice, army services,
should be included in national income or not. It is very difficult% uch services.

Transfer Payments .

Individual get pension, unemployment allowanc
creates difficulty in the measurement of natio
income and they are also a part of government

st.on public loans, but these payments
ese earnings are a part of individual
itures.

Capital Gains or Loss

When the market prices of capi
losses are not included in.national i

2

ssets change the owners make capital gains or loss such gains or

Price Changes

National i e money value of goods and services. Money value depends on market price,
es. The problem of changing prices is one of the major problems of national income

accoun ue to price rises the value of national income for particular year appends to increase

Wages and Salaries paid in Kind

Additional payments made in kind may not be included in national income. But, the facilities given in
kind are calculated as the supplements of wages and salaries on the income side.



llliteracy and Ignorance

The main problem is whether to include the income generated within the country or even generated
abroad in national income and which method should be used in the measurement of national income.

Besides these, the following points are also represents the difficulties in national income
accounting:

e Second hand transactions;
e Environment damages;
e Calculation of depreciation; I 4.

g B
e Inadequate and unreliable statistics; etc. A W 4
Question No.7: TR
Explain the various cannons or principles of Taxation Fo By Modern
Governments.
2

Adam smith’s canon of taxation:

CANNON OF TAXATION 6\

Adam smith, the father of modern po conomy, has laid down four principles of taxation in his
famous book “wealth of nati rinciples are:

2

Canon of equality of

according to Adam smith “the subjects of every state ought to contribute towards the support of the
government a as possible, in proportion to their respective abilities, i.e. in proportion to the
revenue whi y respectively enjoy under the protection of the state”.

Canon of certainty:

according to Adam smith “the tax which each individual has to pay ought to be certain and not
arbitrary. The time of payment, the amount to be paid, ought to be clear and plain to the contributor
and to every other person”. The individual should know exactly, what, when a how he is to pay the
tax, otherwise, it causes unnecessary suffering. Similarly, the state should also know how much it
would receive from tax.



Canon of convenience:

Adam smith wrote “every tax ought to be levied at the time or in the manner in which it is most
convenient to pay”. In this cannon, the two elements, time and manner of payment, must be
convenient for the tax payers so that he is able to pay his taxes in de time.

Canon of economy:

Adam smith said “every tax ought to be so contrived as both, to take out and keepﬁ pockets
of the people as little as possible over and above what it brings into the public tre@‘ry gthe state”.
This canon implies that the expenses of collection of taxes should not be excessive. They should be
kept as little as possible, consistent with the administrative efficiency.

”™_ o
OTHER CANON OF TAXATION x‘o

Canon of productivity: &

according to this canon, the taxes should bring Na t of money to the state. After all, the
main objective of the taxing authority isto s c%s. Therefore, a tax, which does not yield a fair
income, is useless. It is much better to have few

yielding a little.

that yield good revenue instead of many taxes
Canon of elasticity:

uld be fairly elastic. If govt. requires more funds, it can increase its revenue
t incurring any additional costs of collection and reducing the incentive to
ery good example of an elastic tax.

it states the tax system
from the same taxes
production. Inco

implicity refers to tax system, which should be fair, simple and logical to the taxpayer. If
it is difficult and complicated to understand, then it will lead to oppression and corruption.

Canon of diversity:

this canon says that taxation should be broad based. It must cover all the citizens who can afford to
contribute to the government revenue. For this purpose, a variety of taxes are, sometimes,



introduced. But it implies that taxes should be spread over trade, industry, agriculture, transport,
profession etc.

Canon of flexibility:

flexibility in taxes is different from elasticity, discussed earlier. A flexible tax quickly adjusts to the
new conditions. Presence of flexibility is a pre condition for elasticity. Lack of flexibility in a tax.can
cause financial trouble to the state.

| | ) ]

Canon of development: N\ 7
e
taxation intends to bring socioeconomic development in the country as a whole. It should reduce the
economic inequalities. It must not slow down the rare of investment in the co . The tax revenue
should be utilized to the maximum for promotion the welfare of the . ©
QUESTION NO. 8 ¢
Define direct and indirect taxes. Gi s and examine their
comparative advantages and di ges.
1. Direct Tax
2. Indirect Tax
L 4

1. Direct Tax
A direct tax.is id by a person on whom it is legally imposed. In direct tax, the person paying

and beari the same. It is the tax on income and property. Examples of direct taxes are:
* Income Tax
* Vehicle Tax
* Expenditure Tax
* Property Tax

* Interest Tax



* Gift Tax etc.

Advantages Of Direct Tax

* Direct tax is equitable as it is imposed on person as per the property or income.
* Time, procedure and amount of tax paid to be paid is known with certainty.

* Direct tax is elastic. The government can change tax rate with the change in the W operty or

income. | ! ) |
A\ W 4
* Direct tax enhances the consciousness of the citizens. Taxpayers feel burden of t and so they can

insist the government to spend their contributions for the welfare of the com

Disadvantages Of Direct Tax

* Direct tax gives mental pinch to the taxpayers as the
government.

* Taxpayers feel inconvenience as the govern oses tax progressively.
* Tendency to evade tax may increase t i urden.
* It is expensive for the government to ct tax individually.

2. Indirect Tax

An indirect tax is a ta
person paying a
indirect taxes

ed on one person but partly or wholly paid by another. In indirect tax, the
g tax is different. It is the tax on consumption or expenditures. Examples of

* VAT
*Enter t Tax
* Excise Duty

* Sales Tax

* Hotel Tax

* Import and Export Duty etc.



Advantages Of Indirect Tax

* Indirect tax is convenient as the taxpayer does not have to pay a lump sum amount for tax.
* There is mass participation. Each and every person getting goods or services has to pay tax.
* There is a less chance of tax evasion as the taxpayers pay the tax collected from consumers.

* The government can check on the consumption of harmful goods by imposing higher t

N

%

Disadvantages Of Indirect Tax ‘\ ;
e

* Indirect tax is uncertain. As demand fluctuates, tax will also fluctuate.” &
* It is regretful as the tax burden to the rich and poor is same. x

* Indirect tax has bad effect on consumption, production and em ment. Higher taxes will reduce
all of them.

* Most of the taxes are included in the price of goo s. As result, taxpayers do not know

how much tax they are paying to the governm



